Math 2568 (§75) — March. 24, 2017 Full Name:

Quiz 7

NOTE: Answers without proper justfication will receive NO credit

Give the set Mayo of 2 X 2 matrices, define a linear transformation 7': Mayxy — Py by
T(Eu) =1- z, T(Elg) =14+ .'L'2, T(Egl) =2z — 1:2, T(E22) =24z — 2$2_
Problem 1. (2 points) Compute T( [ _g i})
"-51:1 = "Z—E“ @A E.z + 3 eg,‘ +9 GZL
2
S”i'f: = 2(1=x) +2 (Lex4xt) ¢ 312X -x%) + 7 (24x-2x%)
= -2 ¢2 +8) + (2+2+46 ty)x+ \ 2,-3-3))(2

=8+\4¢X-—9x’-

Problem 2. (8 points) Give a formula for T'(A) in terms of the four entries of A = [Z 2}
T ([ i:ﬂ) = alix) ¢ (s x ) + & (2x-x2)ed| 2+ x 2xY)
= (]l +z,é) -\:\-q 1.‘: {-Z(.f'é))‘ +( b ~C ‘23) XZ



